B2

Most nouns form their plural by adding ___ to the singular form.
Answer:

Nouns ending in ____ form their plural by changingthe __ to
Answer:

Nouns ending in ___ form their plural by adding ____ to the singular form.
Answer:

Some nouns have plurals with irregular :
Answer:

The plural form of ‘child"is .
Answer:

The plural form of 'tooth'is .
Answer:

The plural form of 'woman'is .

Answer:

The plural form of 'man’is .

Answer:

The plural form of 'sheep'is .
Answer:

The plural form of ‘'mouse’is .

Answer:




Answers

Most nouns form their plural by adding ___ to the singular form.
Answer: s

Nouns ending in ____ form their plural by changingthe __ to

Answer:y, s, i

Nouns ending in ___ form their plural by adding ____ to the singular form.

Answer: o, es

Some nouns have plurals with irregular :

Answer: irregular, forms

The plural form of ‘child"is .
Answer: children

The plural form of 'tooth'is .
Answer: teeth

The plural form of 'woman'is .

Answer: women

The plural form of 'man’is .

Answer: men

The plural form of 'sheep'is .

Answer: sheep

The plural form of ‘'mouse’is .

Answer: mice



